01.11.21

LO: To add and subtract 3-digit and 1-digit humbers (nhot crossing 10).

Complete:
356 -5 = 356 -5 = 356 -5 =
357 —-5= 356 — 4 = 366 -5 =
358 -5 = 356 — 3 = 376 —5=
359 -5 = 356 -2 = 386 — 5=

011121

LO: To add and subtract 3-digit and 1-digit humbers (not crossing 10).
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359 -5 = 356 -2 = 386 — 5=
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Nijah collects stamps. o)\

She has 526 stamps.

She collects 3 more.

How many stamps does she have now?
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Alex thinks the chart shows 456 - 4

Do you agree?

Hundreds Tens Ones
AHE:
O O S o0
Explain why.
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